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QUESTION 1

What are three ways that graceful Routing Engine switchover provides redundancy? (Choose three.) 

A. by preserving interface and kernel information 

B. by reducing time of RE failover 

C. by preserving the data plane information 

D. by preserving the control plane information 

E. by not restarting the PFE 

Correct Answer: ABE 

 

QUESTION 2

You want to configure support for an IPv6 environment In which hierarchy would you configure an OSPF area? 

A. [edit protocols ospf-v6] 

B. [edit protocols ipv6-ospf 

C. [edit protocols ipv6J 

D. [edit protocols ospf3] 

Correct Answer: D 

 

QUESTION 3

What is the default metric for IS-IS interfaces? 

A. 1 

B. 10 

C. it depends on the bandwidth 

D. it depends on the link type 

Correct Answer: B 

The protocol IS-IS does have an ability to use reference bandwidth to dynamically calculate link costs, but the default
behavior has a value of 10 assigned to all transit interfaces. 

 

QUESTION 4



What are two destination addresses used for OSPF link-state update packets? (Choose two.) 

A. 224.0.0.1 

B. 224.0.0.4 

C. 224.0.0.6 

D. 224.0.0.5 

Correct Answer: CD 

 

QUESTION 5

A root bridge in an RSTP network is connect to other neighboring bridge using point-to-point links. Which combination of
port types can exist on the root bridge? 

A. A combination of designated ports and alternate ports 

B. A combination of root ports and alternate ports 

C. All ports are designated ports 

D. All ports are root ports 

Correct Answer: C 

 

QUESTION 6

Which Junos platform supports provider bridging? 

A. T Series devices 

B. SRX Series devices 

C. MX Series devices 

D. MAG Series devices 

Correct Answer: B 

http://www.juniper.net/techpubs/en_US/junos10.0/information-products/pathway-pages/mx-series/ethernet-switching-mx-
series.html 

 

QUESTION 7

In your network, you have two LDP routers connected across four physical interfaces. You also have enabled LDP to
separate on all four of those interfaces. What is the resulting outcome of your configuration between those two
devices? 

A. One session is built across one neighbor relationship 



B. One session is built across four neighbor relationships 

C. Four sessions are built across one neighbor relationship 

D. Four sessions are built across four neighbor relationships 

Correct Answer: B 

 

QUESTION 8

Which three statements are correct about VRRP? (Choose three.) 

A. It requires speakers to be configured with BFD. 

B. It uses a virtual router MAC address for LAN communications. 

C. It uses multicast address 224.0.0.18. 

D. It is confined to the local network with a TTL of 255. 

E. It uses the virtual router\\'s lo0 address for LAN communications. 

Correct Answer: BCD 

 

QUESTION 9

Your company has purchased two new Juniper Networks MX480 routers. Your manager has asked you to add these
two devices to the existing ISIS network. 

Which two rules about ISIS adjacencies must you consider when carrying out the configuration? (Choose two) 

A. For Level 1 adjacencies, area IDs must be the same 

B. For Level 2 adjacencies area IDs must be the same 

C. The IS-IS levels configured on the interfaces must be the same 

D. The IS-IS levels on the interfaces can be different 

Correct Answer: AC 

 

QUESTION 10

You have built the core of your network using Spanning Tree Protocol. You must ensure that if one of the links between
your core switches fails to receive BPDUs it does not mistakenly create a loop. Which feature would you use to ensure
BPDUs are always received from neighboring switches to indicate that the remote switch is still alive? 

A. storm control 

B. BPDU control 



C. root protection 

D. loop protection 

Correct Answer: C 

Peer STP applications running on switch interfaces exchange a special type of frame called a bridge protocol data unit
(BPDU). Switches communicate interface information using BPDUs to create a loop-free topology that ultimately 

determines the root bridge and which interfaces block or forward traffic in the spanning tree. 

However, a root port elected through this process has the possibility of being wrongly elected. A user bridge application
running on a PC can generate BPDUs, too, and interfere with root port election. 

To prevent this from happening, enable root protection on interfaces that should not receive superior BPDUs from the
root bridge and should not be elected as the root port. 

References: http://www.juniper.net/techpubs/en_US/junos15.1/topics/example/spanning-trees-root-protection-ex-
series.html 

 

QUESTION 11

What are two characteristics of load-balancing implementation on a Junos device? (Choose two.) 

A. It balances packets on a per-packet basis. 

B. It balances packets on a per-flow basis. 

C. It is enabled through a policy. 

D. It is enabled by default. 

Correct Answer: BC 

 

QUESTION 12

You are asked to redistribute routes into OSPF. 

Which action accomplishes this task? 

A. Create a redistribution policy and apply it as an export policy under the [edit protocols ospf area] hierarchy. 

B. Create a redistribution policy and apply it as an import policy in the [edit protocols ospf] hierarchy. 

C. Create a redistribution policy and apply it as an import or an export policy in the [edit protocols ospf] hierarchy. 

D. Create a redistribution policy and apply it as an export policy in the [edit protocols ospf] hierarchy. 

Correct Answer: D 
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